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1. In a box containing 100 bulbs , 10 are
defective. What is the probability that out of a

sample of 5 bulbs, none is defective ?
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3. A box contains 24 identical balls of which 12
are white and 12 are black. The balls are drawn
at random from the box one at a time with
replacement. The probability that a white ball
is drawn for the 4th time on the 7th draw is
A.5/64
B.27 /32

C.5/32

D.1/2
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4. A fair coin is tossed a fixed number of times.
If the probability of getting seven heads is
equal to that of getting nine heads, the
probability of getting two heads is

A.15/28

B.2/15

C.15 /2%

D. none of these
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5. A fair die is tossed 180 times, the S.D. of the
number of sixes, is :

A. /30

B.5

C. 25

D. 30
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6. If the mean and variance of a binomial
variate X are 2 and 1 respectively, then the
probability that X takes a value greater than 1
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7. The parameters n and p of a B.D are 16 and
3 respectively, then its S.D. is equal to
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8. The B.D. whose mean is 3 and variance is 2, is

given by ...
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10. The mean and variance of a binomial

distribution are 6 and 4. The parameter n is ...
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